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elANE ae) N EXOID BLw I RNEI~A

HI3E HEBOFEENER

Unit3 School Subjects Edition
ETr T

(B¥ - B%) Sans(- Stgaku (Mathematics)

1 750 (A7) Siji (kazu)
(Numbers)

(1) 10xT ®» F5C (»F)
(Numbers up to 10)

(E) EN RV KHMT=<1> K IMT=<2> (3B
Figure Number Reading 1 Reading 2 English
iy
0 Zero
rei
W5 0wED
[ ] 1 one
ichi hitotsu
[: /S\ 7(—:/-)
o0 2 two
ni futatsu
S A HDD
000 3 three
san mittsu
L (&kA) LoD
0000 4 four
shi (yon) yottsu
= LDD
00000 5 five
go itsutsu
A< oD
:.... 6 SiX
roku muttsu
Lt (B7R) BixD
::... 7 seven
shichi (nana) nanatsu
lI5 P»oD
:::.. 8 eight
hachi yattsu
=S5 (K) MDD
::::. 9 nine
kyQ (ku) kokonotsu
Cw > EHB
::::: 10 ten
ja t6




2) 10%

xBTS (D)

(Numbers over 10)

350 K I (ZEEE
Number Reading English
CwSL\E
11 eleven
ja ichi
Cw oIz
12 twelve
ja ni
CwoA
13 thirteen
ja san
ZCw >
20 twenty
ni ja
SALw S
30 thirty
san j0
AL D
40 forty
yon jQ
“LCw>S
50 fifty
goja
O <
100 one hundred
hyaku
e s B o N oy N SUe<
s Wiy Wase Wansy Mo | 500 five hundred
' ) go hyaku
ey o o) oo oy A
1000 one thousand
sen
ZtHA
5000 five thousand
go sen
WBEFA
10000 ten thousand
ichi man




3) LD & TS50
(Daily life and numbers)

7 Bk (25h & LA okane (koka to shihei) ~ money (coins and bills)
AA AA Ah AN AA AN
1H 5M 10H 50M 100M 500M

ichi en goen jaen go jden hyaku en go hyaku en

BAZA CHAMRA ITEAMAZA

FMA (1, OOOIIJ) EFA (5, OOOH)
_sen en ___gosenen

—EF‘H (10, OOOF‘H)

ichi man en

4 LI (&FW) jikoku (tokei) time (clock)

AL

fAIRF T 9 Nan ji desu ka. (What time is it?)
(7)

c CExAa c ASh
8T, 8 ¥ (30&:\) TY, 9K 1 54 TY,
Hachi ji desu. Hachi ji han (san juppun) desu. Ku ji j0 go fun desu.

(It's eight o’clock.) (It's eight-thirty/It’s half-past eight.) (It's nine-fifteen.)



2 ~LEA Tashizan
(Addition)

(1) dbET WD TIH, (How many are there in total?)

RAEA

7 HTART AR TIH, (How many are there in total?)

117 1111

( 1 1 + S I I

{41 { 119

i 13 i1

A = EyY 3 g
4 3 + 4 =7 san tasu yon wa nana (three plus four equals seven)
%% i & 2 < BAEN

(2) BEIACERLEEFL-TVWEY, SbIZ3EKDE, FARTHARIZAEDSTLEL S,
(There are six cars stopped. If another three cars come, how many cars will there be?)

A< =9 Eh [l TS
6 + 3 = 9 roku tasu san wa ky( (three plus six equals nine)

(3) VoTAT IHWEA LFEFELELD,
(Let’s try solving the problems by hand.)

7 23 4 34

+45 +29

68 6 3
(2+4) (3+5) (3+2+1) (4+4+9)

\\(13)

1< YHM>T ichikuriagatte (Raise the 1)

KDL THATBRRD T, BEBLELE D mmmmmmmmmmmmmmms oo

5 do odo ﬂ

S ob Gy & ﬁi\g‘i\g imi\g



3 U& XA Hikizan
(Subtraction)

H

(1) BBD Sz HFAAN BTHYEY, BSAN 20 RFlLk OIYKER

(There are 5 mikans on a plate. Aya eats 2 of them. How many are left?)

o1
I
N @
I
w

go hiku ni wa san (five minus two equals three)

() WA 1T0UE, RIA 6TE LWET, "TD BAWLNE WD T,

(There are 10 dogs and 6 cats. How many more dogs are there than cats?)

10 — 6 = 4 j0 hiku roku wa yon (ten minus six equals four)

(3) B23AT IFWaA LELELS,
(Let’s try solving the problems by hand.)

_24

12
(3—2) (6—4)

1 135

Cw>

WL DT,

— 72 T OLBHWE 3 — 7T VDFGELAL, BOLLWLMD

63 1<CYEFT, 13—7¢LT ITWEALFET,

(13_7) (5—2) (You can’t subtract 7 from the 3 in the ten-row, so you bring
over the 1 from the hundred-row and subtract 7 from 13.)

7 142—83% UV-22AT ITWEA LFEL&LI,
(Try solving 142 minus 83 by hand.)

142
— 83



4 NI Kakezan

(Multiplication)

RERVVIRN A

(1) BEBIZ D>TND HhAlE, 25T EETTH,

(How many mikans are there in total on the plates?)

L &S & &

7 1&512 2 DoTLE HbhAN 45T SETT,

(There are 4 plates with two mikans on them each, so there 8 mikans in total.)

1= P}

2 X

X
AN

(o8]

e

7 20411F 8TY,

[ES x5

= 8 ni kakeru yon wa hachi

Ni no yon bai wa hachi desu.

(8 is 4 times as much as 2.)

FLEA

I ZO&5%% FHEZE HHFTA EVVET,
Kono y6na keisan wo kakezan to iimasu.

(This sort of calculation is called multiplication.)

< X
@ AhE BERELLS,

(Memorize the multiplication table.)

Iz < X

ZDOrADRR ni no dan no kuku

2X1=2

2 Wb A IZ

ni ichi ga ni

(two times one is two)

2X2=4

[z 1z A L

ni ni ga shi

(two times two is four)

2X3=6

I A A AL

ni san ga roku

(two times three is six)

2X4=8

Iz L A &5

ni shi ga hachi

(two times four is eight)

2X5=10

Iz Z LCw>

ni go ja

(two times five is ten)
2X6=12

= A< w3z
ni roku ja ni

(two times six is twelve)

6

(two times four equals eight)

(the multiplication table for two)

2X7=14

I Ls LwsL

ni shichi ja shi

(two times seven is fourteen)

2X8=16

2 &5 Lo AL

ni hachi ja roku

(two times eight is sixteen)

2xX9=18

I~ < CwllEs

ni ku ja hachi

(two times nine is eighteen)



Sh < < FA < < = < < A< < X
=DEADN mDEADIN ADEADRN INDIZADN
(Multiplication table for 3) (Multiplation table for 4) (Multiplication table for 5) (Multiplication table for 6)

3X1=3 4X1=4 5X1=5 6X1=6
3X2=6 4X2=8 5X2=10 6X2=12
3xX3=9 4X3=12 5x3=15 6X3=18
3X4 =12 4X4=16 5X4 =20 6X4=24
3x5=15 4X5=20 5x5=25 6Xx5=30
3X6=18 4X6=24 5X6 =30 6X6 =236
3X7 =21 4X7 =28 5X7=35 6X7=42
3xX8=24 4X8 =32 5X8 =40 6X8=48
3xX9=27 4X9 =36 5X9 =45 6X9=>54
L5 < X< x5 < X < < X (ALY < X
TDEADIN J\DFEZADA NDFEZADAI —DIZADR
(Multiplication table for 7) (Multiplication table for 8) (Multiplication table for 9) (Multiplication table for 1)
7X1=7 8xX1=8 9X1=9 1X1=1
7X2=14 8X2=16 9x2=18 1X2=2
7X3 =21 8X3=24 9x3=27 1X3=3
7X4=28 8X4 =32 9X4 =36 1X4=4
7X5=35 8X5 =40 9X5=45 1xX5=5
7X6 =42 8X6 =48 9X6 =54 1X6=6
7X7 =49 8X7 =56 9X7=63 1X7=7
7X8 =156 8X8 =064 9x8=72 1X8=8
7X9=63 8xX9=72 9X9 =81 1X9=9

VoEh FOEh == m e e e mm e mmmmmmmmmmm——— -

B 12x34% Z#£ET HE LFL&LD, * T B DR L BN B
(Try solving 12 x 34 by hand.) ANDATH, FITHEL

RHZEHEELET,
(A% <L
7 4x2=8 (—Dfr) 4 M»nTFBH 2 £ 8
12 4 kakeru 2 wa 8
X 3 4 (4 times 2 is 8)
4 8 Cw > (YA
36 4 4x1=4 (+Dh) 4 HIF3d 1 £ 4
408 4 kakeru 1 wa 4

(4 times 1is 4)
Cw> (BN
7 3x2=6 (+ D) 3 »NlFd 2 & 6
3 kakeru 2 wa 6
(3 times 2 is 6)
V< (YA
T 3x1=3 (B®DhH) 3 »nFd 1 £ 3
3 kakeru 1 wa 3
(3 times 1is 3)

A 48+360=408 48 =9 360 & 408
48 tasu 360 wa 408
(48 plus 360 is 408)



5 bhXA  Warizan
(Division)

Py IYY

I2A B H»T VEYRA " A

(1) BEOBHEIAT FLETD HHET, —ADE METTH,

(If you split 8 pieces of candy equally among 4 people, how many pieces of candy will each person get?)

L ok p
7 XEFAE FEEFELLD,

(Write the formula and the answer.)
L&

= shiki (formula) 8 + 4 = 2
Zr= DEYRA ful
EZ kotae (answer) — A7 &2{& Hitori bun wa 2 ko (2 per person)

wneg wne
14 8% bohd#H LVWVWET, 4% DHIH LLWET,
(8 is called the “dividend” and 4 is the called the “divisor.”)

A=Y
7 8F4N&ST FHEE bUYTA LVVET,
(Calculations like 8 + 4 are called division.)

= < X &
I 8H4DZFAIE ADFEADART XHBHNFET,
(You can look for the answer to 8 + 4 on the multiplication table for 4)

Zf=
T BA%® FELEL&LS,
(Try answering these problems.)

HOSIOEE, B o5 LB D H A WicE
LEIEANDH LD T, FHEOBRICIE. DY
BN EFEICHMTCE DL LI LET,

WO oM™

=3
=5
=7

(11l
SAS

1
6
VoA [PV

Ty
h EET HE THLEFEF 4) 8 & EBEET,
(When you solve division problems by hand, you write them like this: 4 ) 8 J)



VoA

2 72+3% ZEHT
(Let’s try solving 72 + 3 by hand.)

3 )72

w
= NN
N

w
o NN
N

—_
N

N
N

w
o N
N

—_
N

N
N

w
o N
N

—_
NN

VoA [PV

(@) EFT HELEL&S. §
(Try solving these problems by hand.) E EINCN

2 )42

N

ES

FWEA

HE LFEFL&S.

Cw> [=YA
73T HY, +OAMIC 2% =T,
(Divide 7 by 3, and put the 2 on top in the ten’s place.)

m
3L2% MFT 6% EL,
(Multiply 3 by two and write 6.)

Iy
Thb6%E VDWLWT 1% #C,
(Take 6 from 7 and write 1.)

1OHRIZ, —DED2% 47,
(Drop the 2 down beside the 1.)

ws B
12% 3ThHY, —DhI 4% =Th,
(Divide 12 by 3 and 4 in the one’s place.)

3E4EMFT. 12% FEZ. 12h6 12F720VD<,
(Multiply 3 and 4, write 12 and take 12 from 12.)

mn <z

72)3 & EEE HYFET,
(There are also countries that write itas: 72 )3 )

5 )735

WETHES =TS« BAT,
ERLEOER ST E T,
. BT RCSEHE LMD

DT, TEIHRNET,

____________________________________



6 LA Nagasa

(Length)
Tt L
(1) [FAED =T& &I RIE FAXFELL D, B{E I8 &
(Let’s take a look at the length and width of a postcard.) 50
B A #
T A A

7 REEF BAEICLERENAVNCDORAHEINTHLODLLET,

(Length is expressed in terms of units of length.)

- -

mhH = AW

14 BIOEAMIICE, TYA=MIL (mm) . EF A=K (cm) . A—KtJIL (M) .
FOAr—=KkL km) BNHY EFT,

(Units of length include milimeters (mm), centimeters (cm), meters (m), and kilometers (km).

7 1 mm 1 Omm= 1cm
1T A—=FJL TOZYA=FILIFTEVFA—=IMIL
1 mirimétoru 10 mirimétoru wa 1 senchimétoru
(1 milimeter) (10 millimeters make 1 centimeter)
100cm=1m 1000m=1km
1T00FYFA—=RILIEZT A—=FIL TO00A—=FJIFTHFOA—-IIL
100 senchimétoru wa 1 métoru 1000 métoru wa 1 kirométoru
(100 centimeters make 1 meter) (1000 meters make 1 kilometer)
. Tcm
—
T T e . T T O Cv v
'y V%)
C : T e e L e S

(B) BHEIADERND FERET 2. bkmdYFET, A—FLTIE AA-FLIZABYETH,
(It's 2.5 kilometers from Musashi’s house to his school. What would this distance be in meters?)

* BB ko T, M |
EENRLDS Z & bigET 5, |

__________________________________

10



(1)

(3)

)

B Omosa
(Weight)

Bb =AW

BY
BEE, BICLEESANCDRAHEINTHLDLLET,

(Weight is expressed in terms of units of weight.)

Bb =AW

7 BEO B 2 TIL (@ FATIL (ke) BHYFT,
(Units of weight include grams (g) and kilograms (kg).)

A 1g 1000g=1kg
175 4 100075 4LIFT1FOTT A
1 guramu 1000 guramu wa 1 kiroguramu
(1 gram) (1000 grams make 1 kilogram)
ANEE Bb ANEE F Bh

TAEDNESE, 6&5E 1gTY, 1THE 7HKTIE {AglczyFIh,

(A one yen coin weighs exactly 1g. If you have 7 one yen coins, how many grams will they be in total?)

A

5kgld, AIgTI A

(How many grams is 5kg?)

A

B5b
FYon =LTWd ESE fAkgTT A,
(How many kilograms is the needle showing?)

EERIZ, 1¢g100g¢g
lkeDW = Fi-& 5
BENBELET,

_____________________________

4y

11



8 N Kasa
(Volume)

=AW

X
(1) KgEn HExE FMDd BAIC Jybib O T2Uy bbb @) o =YYy bL (L) BHYET,

(Units like liters (L), deciliters (dL) and mililiters (mL) are used to measure the volume of liquids, etc.)

7 1dL 10dl=1L 1000mL=1L
(1720w kL) (107> Uy bILIET Uy ML) (10002 Yy bLEFET YUY L)
1 deshirittoru 10 deshirittoru wa 1 rittoru 1000 miririttoru wa 1 rittoru
(1 deciliter) (10 deciliters make 1 liter) (1000 mililiters make 1 liter)

Bh BA

#HY
@ 1LoEzrdT 1TIEWE, TdoFxrdT 7IE0D KosrEE, f[ALfEdLIc Y £ 5H,
(How many liters and deciliters of water would there be in total with one 1 L cup and seven 1 dI cups?)

414

Lid, oD 23, it B M S
N1 0enDETOEFITTHD
EEEET DL, BEPELET,
gde)ﬁﬁLli\ A EVISOES S N
L

NTWBZ EIZE55BE LN
&2 !

12



9 SATS Bunsi
(Fractions)

H aht EYYY (A%5)
(1) 1mZx 3212 Sz 1 D2RAORSE =H0— ;L—I~)l/&—(,\3 m&iﬂéi‘d‘

(When you split 1 minto 3, each section is called “one-third of a meter” and written as : %m.)

Y] Iz

Sh 0 A
2) 1L%E 52l $HiFr 2203A40H1EE EHOZ Uy MLJ:%L\% LEEBEET,
(Ifyou split 1 L into 5 parts, and then take two of those parts, it's called “two-fifths of a liter, and written as L)

= ne AhES

3) 1?)@ %@&5@ ME N EZ0ET

[1/1/] 305% HE. 1025 HF LENET.

(Numbers like % and% are called fractions. The 3 and the 5 on the bottom are called

“denominators” and the 1 and 2 on the top are called “numerators.”

T

Bt Bh

ARh
@ 1mZx 4212 Dtz 3DRADORSIE A=K TIhH,
(How many meters would it be if you divide a meter into four equal parts and then add three of those parts together?)

13



10 Lx>75  Shésh
(Decimal)

¥ H L ”
(M 12 FLC 10[EZRFE 12RAD HhEE WWWTAWLWSLY Y MLEFWL, 0. TLEFEEET,

(If you split 1 L into 10 equal parts, each part's volume would be zero point one liters. This is written as 0.1.)

R
—

ERRERERRE

0.1L—

Atz EA #HY 35 #Y & A

() ZookESIZ, FhETh Kb 1LE 0.5L A-TWES, KO HIE EhET fALTTH,

(You have two water bottles with 1 L and 0.5 L of water in them respectively. What is the volume of the
water in total?)

7 1 + 0.5 = 1.5
Wt =9 hWTAZ & W-oTAZ
ichi tasu reitengo wa ittengo

(one plus one point five equals one point five)

(A%} <y
.t 1 ) 5 (7) —d 4L
ichi no kurai
A L : L (one’s place)
5 | & | 70 ¢
) S D Le395TA
| 2 3 (£) IN# &
S 2
é ?C S = shéslten
WA (,:)\ L (decimal point)
LY p
5
Ly LE3F5E00B O
(7)) INBE—AL
shdsi dai ichi i
(first decimal place)
Zr=
7 Z&Z (answer) 1.50y ML

14



11 T Zukei
(Shapes)

FA BE(EA M=% EAMLITFN

(1) 3XDEB/T HiFht KE =K

(An enclosed shape made with three connecting straight lines is called a triangle.)

Th

A BE5A

2
~

Ly

EEVET,

TAD LT
=Ak
sankakukei

(triangle)

gL IFL

EFE=AfF
seisankakukei

(equilateral triangle)

2 & SANASAMITFN
“HD=AK
nitbhen sankakukei

(isosceles triangle)

A L&on L TAM TN
B A=A
chokkaku sankakukei
(right triangle)
B l_ C
Th ~A m< f=t
L& DR S| y= oS
chéten hen kaku takasa
(vertex) (side) (angle) (height)

15

TWANA

=3
teihen
(base)



FA 5&EA n=b Lo < (A

(2 4FXD ERT HIFENE FBE EAK LSVET

(An enclosed shape made out of four connecting straight lines is called a quadrilateral.)

Lo < BLESTFL BEIEFESIHL B0 AnZ S LAATW =

Q) mARICIE EAF. KA. B FTEIFE. OLE BEL’HYFT,

(There are many different types of quadrilaterals including, squares, rectangles, trapezoids, parellelograms, and
rhombi, efc.)

BLES [T =
_ EFH O Lz
8% seihokei hishigata
= (square) (rhombus)
K
yoko
(width)
BESIESFL ey
kAW ai
chéhokei daikei
(rectangle) (trapezoid)
ANZS LAaATL
SEATIOIRZ
heikbshihenkei
(parallelogram)
HE =5 Al (A} o
SRAN \ 7, = ©
(4) E@J:jd 356(1 ﬁ/% Fq (El:lti gs-d—o / E'ﬁ?%
(Round shapes like the one on the right are
called circles.) 53 LA
=TI
[FAlFL L&l 55 LA AL S
(6) ##& [ERES SV =
hankei chokkei chadshin enshi
(radius) (diameter) (center) (circumference)

16



12 HAETE Menseki
(Area)

HAEE (A

) hE OCeE EE EEVET.

(Area is used to show how wide something is.)

HatE =h W

2) @EO B,

(Units of area)

1 cm? 1m? 1 km?
(ITAWESIEYFA—RML) (IAVESIA—RL) (IAWNESFOA—RIL)
1 heihd senchimétoru 1 heihé métoru 1 heihd kirométoru

(1 square centimeter) (1 square meter) (1 square kilometer)

BESESTFL HAEE

&
@) EAROEEE £T X &£ TROLAET,

(The area of a rectangle can be found by multiplying the
length and the width.)

(ybus)
ale)

oo

yoko
(width)
SANTFL HAEE TWANA - =2 &
@) =AkoEEdE. EIXES + 2 TROLIFET, ”
(The area of a triangle can be found by multiplying the tﬁaia
base and the height and then dividing by 2.) (height)

Zh  HAEE FaFL  FATFL ZALpSYD

(5) MOEMEE, FEXFEXMF K TROSNET, \\\\_%ﬁ _////
i i i i teihen

(base)

(The area of a circle can be found by radius x radius x pi)

[FAITLY
FEF

hankei
(radius)

* AR, AR-ERTkHLN3. 1 40ELDNET,
FAEIL. ERXARETKROLONET,

*Piis 3.14 and can be found by taking the circle’s circumference and
dividing it by its diameter. A circle’s circumference can be found
by multiplying it’s diameter and pi.

5£3EFES5HL HAEE

(6) =TH 2cm £IA 4omd EAFOEEZ Z}Z&bi L&,
(Find the area of a rectangle with a length of 2 cm and a width of 4 cm.)

ST HAEE

(7) EAHMN 6em mEH Lemd =AFOEBEZE Z‘Z&bi L& Do
(Find the area of a triangle with a base of 6 and a height of 5 cm.)

17



13

M

@)

3)

4)

()

ViR A= Taiseki
(Volume)

fheE (&)

%0) nE DTEE BE O EEVFET

(Volume can also be used for objects.)

fLheE f= AN

RRED BT

(Units of volume)

1cm? 1ms
(1Y F58FA—KIL) (TY2ES5A—FIL)
1 ripp6 senchimétoru 1 rippd métoru
(1 cubic centimeter) (1 cubic meter)
B5&CIES WL YoFS57=0
[ERZRZN S HE
chokuhdtai rippotai
(cuboid) (cube)
. «— 5£5TA .
?eAr; ,’% R chéten ' +7
(face) # ' = (vertex) : 3c
¥ 4 : ; !
3cm ! e 3CM g
/ fascesasscasnvassisassesesasacnsadfoccsennes -

7/ ] ' 4__&)/\1
/ g ! ‘ men
/ o I (face)

— " — '

Sc‘m
~N~h \ ~A
hen | hen
(edge) AL~ (edge)
BEIES W Y570 DA

ﬁjﬂf% _Ljﬂzt% @li6o BotjﬁlatS’J D/J\12&>Ui?”
RSN Ec‘:ﬁli TL\"E'( BRoTWET,

(Both cuboids and cubes have 6 faces, 8 vertices and 12 edges. The edges and faces are
perpendicular.)

LELESELY EE =t

BEAKROEEE, =TXLIXES ’CZ‘Z&bthE?‘ 3X4x2=24 (cm®)
(The volume for cuboids can be found by multiplying the length by the width and height.)

YIRS oeE ~A ~A

I HEDEREI, 1 JJ>< 130X 131 f:}z&)bhﬂ“ 3x3x3=27 (cmd)
(The volume of a cube can be found by multiplying the length of one of its edges by itself three times.)

18



14 757 Gurafu
(Graphs)

BB <B o o
(1) KEX XY, BhoTWEDITE HHOITDIZ, VT7T7% FELNET,

(Graphs are used to compare sizes or to show changes.)

Wwsizs LD

2 —HOEEZE U771 LFELE

(I made a graph showing my everyday life.)
BU

®HS5 T obi gurafu (column graph)
TUVHA Mo > HTW |RhEgi| TULE
suimin gakké asobi benkyd terebi
(sleep) (school) (recreation)| (study) | (television)
F>5

By5 7 bd gurafu  (bar graph)

Zh
B jikan (time) M72 7

10

©

8
7
6
5
4
3
2 o,
1 200
0 O e
= ~

—~0 9|l _ Al 3 —~T
02 o) 7
g |885) 389282
o3xlaz=| 89 52T
B5/1205| 5ZU=S &£

MI=TSE 5

& HA
ngg s>  oresengurafu  (line graph)

L& ChreE
shokuji nado
(eating, etc.)

(recreation)

en gurafu  (pie chart)

FTVHA
suimin
(sleep)

N> 5
gakkod
(school)

(cm)
150
_—
100 L] LAB &S OMNHY M=  shinchd no kawarikata
— (changes in height)
__.--'1/—

50 NN ,
KK E SEADITIHES T TR,
L B A RTIIINR S T 7 7 P
D OELTVWAI D, FEELEY, |

1 2 3 4 5 6 7 8 9 10 11(SL sai age)
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M

@)

AT D FWEA

SEOFHE  Bunsi no keisan
(Calculating fractions)

ARATS Th Th

DNEOELE - VEE,
(Adding and subtracting fractions)

FLEA

7 L+ EHELEL SO,
(Let’s try solving % +— )

1

OIN

2, 1_
5t7=

EWVAES RATS

DEOLEHNSH ﬁ@tbﬁ U%ﬁm HL !lﬁbfﬁﬁbiT

D5 RA D33k EWNES

B EVVWET, BOT D LT ﬁ@%&@ﬁ%%&’&ﬁb\i‘é‘o

x4, 1x5_
S ATAxE=201t20=

NEERCISTB L%

(When you add or subtract fractions with different denominators, you have to first change the
denominator. This is called reducing to the common denominator. The common multiple of the

denominators is used in this process.

SATS

“ﬁ@ﬁwﬁ bUE
(Multiplying and dividing fractions)

FUWEA

4 2 = =
7 : X < EEHELFEL &S,

Let's try solving 4. X 2.
( ry 9 £ 3)

4.2 _4x2 _ 8
5X3=5x3 156

) V) FUWEA ENVYNES

DEIZDHENTDEEE. PEES L.
(When you multiply two fractions, you multiply both the numerators and the denominators.)

FUWEA

1 £+ 3 EHELELLS.
(Let’s try solvmg% v% )
8

AT S FOEA PV YNES S AL

DPETHDEER, béi&@’\l&ﬁ?’a}/\hb\zﬁiﬁl%}b\(fiﬁ'
(When dividing fractions, you switch the denominator and the numerator and then multiply.)

\¥t SL% 75\(7% LET,



by Hn

16 #|ES  Wariai

(Ratios)

*XEERGNBZEN, BEICTIEDENEFICHEZE2rERLEHE [BlE5] EW0WWET,
% Ratios show how much a certain amount is compared to the base amount.

M

)

L hale > AR NANAY (E4A

HES A, NRATY bAR—LOT)—A0—0RBZELELF, 15EERIFTOEAYFE L, Aof

hYHLy

Bl&ERODEL LD,

(Musashi was practicing free throws in basketball. He made 6 of the 15 free throws he tried. Find the
ratio of the free throws that he made)

bYBL S¥  LE e
ZEIE. ROKXTRDOLNFET,
pyBL . B V55 Yes

FEa=E"oNhdEBE-HLIZTDE

(Ratios can be found by using the following formula: ratio = the amount being compared + the base
amount.)

£-57T (thus) 6+15=0. 4 A 0. 4

Ve lRAaYD AHn

B4R -#%4  Hyakubunritsu - Buai  (Percentage/Rate)

VDL RAYD Yyss hYHL Hoh

7 BNREFLEICTIDIZIEETIO0O0ELEAEEETT, N—tr b (%) THRLET,

(Percentage is a ratio wherein the base amount is set at 100. This is expressed with the
percentage symbol %)

bYHL Hob by Yk

4 BAEETO. 1£1%, 0. 01%14. 0. 00121 EEVN3ERnBYET, 0
Hoh bydHL A H L
Lok LEEIEZ., [HE] ELWWET,
(When expressing a ratio, 0.1 is read as ichi-wari, 0.01 is read as ichi-bu, and 0.001 is read as

ichi-rin in Japanese. Ratios expressed like this are called rates.)

1 0.1 0. 01 0. 001
Vel RAYD
ERES
0, 0 0
Hyakubunritsu 100% 10% 1% 0. 1%
(Percentage)
AR H L
Ha
Buai ZL) ":1 Y & Yh
10& 1Z 143 1
(Rate) J J 7 E
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TWVs FWEA

17 TEADOHE Seifu no keisan
(Calculating positive and negative numbers)

MIE S FAIES

(1) I0% - Bk  kahd - genpd  (addition and subtraction)

o005
7 #xi{E  zettaichi  (absolute value)

o015 Toklb
+ 3 DiExEE 3. —4 DfEEIXL ERY FET,
(The absolute value of +3 is 3, and the absolute value of —4 is 4.)

ES535T5 mIE S

4 RFEDMZE  doéfugd nokahd  (Adding numbers with the same sign)
(+4) + (+6) =+ (4+6) =+10
(—=4) + (=6) =— (44+6) =—10

wisos ”mIES

v EFEOME  ifugdnokahd  (adding numbers with different signs)
(=5) + (+5) =0 T

| ODSE.IA N ] N IJ: :
(+9) + (—=4) =+ (9—4) =+5 :*ff{{b\g@ ﬁ;\j}iﬁ) f?é
(+4) + (—=10) =— (10—4) =—6 LR EOE RIS filth T
| BEXEVLOTT, |

"y ko) & oF
2ODHOMERDBICIE, ROLSIZLET,
(The sum of two numbers can be found the following ways:)

35T
(7) ﬂ?ifﬁd)%w) &%  (For numbers with the same sign)
goklv b EX3lel] AT S

: %’éxﬂ*@'dﬁuk BOFEZDTES,
(Attach the same symbol to the sum of the numbers’ absolute value.)

(AR}

(1) ,ﬂ?@;&w) LE (For numbers with different signs)

Tokznb E>5 [E30) Tokzvb [E39] AT S

: %’éxﬂﬁwj(% WHEHE b/ \é WHZVE, ‘F@*ﬂﬁd)jté? WHDRESEDITET,

(Subtract the smaller number from the number with the larger absolute value and attach

the sign of the number with the larger absolute value to the sum.)
Tolb v

- HEHEAZE L (Tl *Dlat OlzY £,
(If the absolute value of these two numbers is the same, the sum will be 0.)

22



g0 ¥5 A "y =I5 (el B FAIES NIE S

EDH. ﬁ@i&él}(c‘:éli ZTOHDEFTENATMADIELRLTY, LEAST, BAR. A

nE TWsA

CELTEHET I ENTEFT,

(When subtracting positive and negative numbers, it's the same as changing the numbers’ sign and
adding them together As such, it is possible to use addition for calculations involving subtraction.)

g0

I IE@%I%’E 0 EZE seinosU wo hiku toki (subtracting positive numbers)
(+8) — (+5) = (+8) + (—=5) =3
(=8) — (+5) = (=8) + (=5) =— (8+5) =—13

A 5

T Bo#EUVCEZET  funosh wo hikutoki  (subtracting negative numbers)
(+8) — (+5) = (+8) + (—=5) =3
(—8) — (+5) =(—8) + (—=5) =— (845) =—13

C&3ES C&iE>

(2 ZFEE-BZE  j6hd-johd  (multiplication and division)
ES3AHTS L&S1ES C&ES
7 RSO FEE - BRiE  dofugd no johd - johd  (multiplication and division for numbers with the same sign)
(+3) X (+4) =+ (3x4) =12
(—=3) X (—=4) =+ (3x4) =12
(+12) -+ (+4) =+ (12+4) =3
(—12) - (—=4) =+ (12+4) =3

Dk TTE - BRIEOWNE L, EERECHEOEKIC LN TEE 0L 0T,
DR, s, IR, BRIEEZELDT, AL VS DL AL EEL LD,

____________________________________________________________________________________________________

(AR C&S5ES C&ES

1 EBEFEDZEE - BRE ifugd no johd - johd (multplication and division for numbers with different signs)

(=38) X (+4) =— (83%x4) =—12
(+3) X (=4) =— (3x4) =—12
(+12) = (—=4) =— (12+4) =—
(=12) ~(+4) =— (12+4) ==—3

5 & L&S

oF
2DODHDER E;}Z&bél (. ROKSIZLET,
(When finding the product or quotient of two numbers, use the following rules:)

ES3ATS g L&d gokzb g L&d g AT S

-RIFEOE - B TR, BAEOBFLEBH ICEOFSEOTET,

(When finding the product or quotient of two numbers with the same sign, simply assign the
same sign to the numbers’ product or quotient.)

(AN L&S gokb & L&S A 5T S

'Eﬁ?@ﬁ B T, EAEOEE I E ICEORETEDTET,

(When finding the product or quotient of numbers with different signs, attach the negative sign to
the product or quotient of the numbers’ absolute value.)

23



E>TWLE

18 HEX Héteishiki

(Equations)
L= mh b C HI=y Wz 5 A = ESLE [E>TLLE ES>TLLE 7 =
;yo)thq)jzﬂ_\b Hh?E E'f‘t/?\??;‘:}:k”_L’)—E_F_tgﬁ*i(_tt&;b\?_a- Tl FEAERYILEED

%z, AEXOEENVEY, AERDBERHD L&, ARAEHEVVET,

(Equations are made by substituting letters in equal formulas for certain values. The value that makes
the equation equal on both sides is called the solution of the equation. The process of solving the
equation is called solving the equation.)

ES5TULLE &

k@ﬁ&‘t%ﬁﬁé'ﬂf L&D,

(Try solving the following equation.)

7 —2x=8 E*x@ﬁﬁé1l¢étbL\ﬁEEi
_ 5 3 CXDRFRBETHYET, KDDIXFIT
X _ LI XN E BB L ERBALTHE!
—2 —2 o E L&D i
x=—4

A x=—4
1 2x+7=19-4x A XFEXOEFEEMS 2. BEOD|
2x+4x=19—7 E EFEBYERLEBEBELEL LD, |
6x=12

X=2
A X=2

24



19

)

AT

E'apig Kansi
(Functions)
Y&>S [ES2N Y&d ~ATS Hb Hi=y
HdE LEFNIC 5 %7&9(7*10%)1’@0) g @aa Y, TNEFNELEH X, yTXR LET, xD & E,J%&bé&

FhIz o> TyD B 3&6&3\ VIZXDBEHTH B & LVWET,

(When there is one amount and another amount that changes alongside this amount, this is
represented with the variables x and y. When you decide what x is, the value of y is determined in
turn, and y is then called a function of x.)

FWAA [ESed PV AVVE SR 5% #Hb5

56 OMDEE TXEHENEED, HONVEDY ZymE LET,

(When you walked for x minutes at a speed of 60 meters per minute, the distance you walked is
expressed by “y meters”.)

X 0 1 2 3 4 5 6

y 0 | 60 | 120 | 180 | 240 | 300 | 360

NATFN LE Hoh

COxEYyDEFREX TR T& kCDJ:’)l BYET,
y=06 0x

(The relation between x and y is expressed as follows: y=60x.)

~AT S LLe Hoh C AAT5 WA o

200);}5%&& YIZDWT, YAXDIRA TR SND EE yIIXDIREHETHB EWLNWNVET, —RIZKRD
bh
L£5I2F LFET, E5mY LS

n=o ~ A D HyHL oA
yDENE -

y=ax+b (a=18 E=Z{tDHIE= XOEINE b=41F)

(When the variables y and x are used, and y is expressed as a first-order equation of x, y is said to be
a linear function of x. This is typically expressed the following way:)

y = ax + b (a = angular coefficient = rate of change = INcreaseiny p - intercept)
increase in x
L hATS
1 XEE% y=2x+3 03’7‘57 vl 4 /4
Nk bYBL ¥ 8 + 2
FIOBAN2BOT, f~1EBES, b2 EHERET, ol
o y? LB BElEA 74 1
. YAEN3HEDT, (0, 3) 2BIEMICAYET, 6+—P/ 12
(Since the rate of change is 2, the line advances 1 space to the Sg a 1
right, and up 2 spaces. The intercept of the line is 3, meaning 444 2
that the line passes through (0,3).) 1>
2 .
/
—9 ,
O 2 : x

25



Z5E5 50
20 &L  Go6do - Soji
(Congruence and similarity)

Z5&5

(1) &R (Congruence)

SAMLITFL oF C&S5TA % = SAMLITFLN
7 )2&?0)5%%?\ ROEH (7) b (7)) D55 ENMMNRYILTIE ZD2O20=AFE
ARTH %,

(If two triangles fulfill any one of the following conditions, then those two triangles are congruent.)

y AB=DE
BC=EF
CA=FD
1
Il

F

A (0N
(7)) 3SaALXENZENFELL
(All three sides are equal)

B i C E

~h HLTE M <

v
(1) 2BLzx0BEoANRTAZTREFELN
(2 sides and the angle they make are equal)

D
A AB=DE
BC=EF
/B=/E
1 1
i C E I F

~h mn< (oY
() 1BEEOmMmOANENETNFLL
(1 side and the angles on both sides are equal)

B

A D
BC=EF

ZB=ZE
LC=ZLF

26



z5 L

(2) L (Similariy)

SADL T oF CL&SFA 7 1= SAMLIFLY
7 2DO0=ZAFT. ROEHE (7)) b (J) D56, EAMRRYIITIE D2 O00=AFIF
50
BUTH D,

(If two triangles fulfill any one of the following conditions, then they are considered to be similar.)

< ~Ah [

v
(7) SHOIOEMNFELW
(The ratio of all three sides are the same.)

D
A
Liii} AB:DE=BC:EF=CA:FD
B C E F

< ~A [ HULTE < v

v
(4) 2MOILOEAZFELL. ZO B OANEFELN
(The ratio of 2 of the sides are the same and the anges they make are equal.)

D
A
AB:DE=BC:EF
/B=/E
B C E F

< A < 3

() 2fosartzhzThnFELN
(2 of the angles are equal)

D
A /B=/E
ii /C=/F

B C E

F

27
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21 EFEDBE;  Zukei no idd
(Translating figures)

ANZSWES ERvA WoTLy  [EF3C5 LWoTL ) wes

(1) FI#%EEE MEE—EDHMIZ, _ZIEU)EE%/ET‘(T@J/J‘T@@J@ ETY,

(Parallel movement refers to moving a figure in one set direction for a set distance.)

ELLESNES ERvAA L&A ] wes

(2) XIFFEEIE (L. lﬁ}&%é‘ﬁﬁf&ﬁuat Lﬂﬁ%@;omg@j@ L TY,

(Reflection refers to moving a figure along a certain straight line and mirroring it.)

g -

i B
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He ir & L NLLwHIbrd
YA I - = IR V-
B2 10N
F o K Eros ALk i~h  XAFH TR

F3H FEROFEENE R - B

M E D
s
3. U%é/\/ ........................................... H—
142—83=59 142
— 83
59
(13—8)(12—3)
5 j/)@é/u ............................................ 82—
(1) A 6+-3=2, 10+-5=2, 63+7=9
(3) 42+-2=21, 735+—5=147
21 147
2542 5)7 35
4 5
2 23
2 20
0 35
35
0
B, JR DN e 10—
(3) 2500m
7. %%é ............................................. 11—
2 7g (3) 5000¢ (4) 2. 5kg
8. 75>§ ............................................... 12/\0_.\/
(2) 1L7dL
9. /33/1/—@—5 ........................................... 13—
3
4 24 m
12. &)/\/’H_‘% ........................................... 17—
6) 2X4= K%z . 8cm?

(7) 6X5+=2=15 %% :15cm?
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